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FOURTH SEMESTER
CIVIL ENGINEERING
CE 45 — SURVEYING -1
(REGULI;TIONS 2008)
Time : Three hours | Maximum : 100 marks

Answer ALL questions.
~PARTA — (10 x 2 = 20 marks)

1. What are'the different methods employed in tacheometric
System?

2. What is an anallactic lens?
3.  Mention the different types of ground control.
4. What is a base line?

5. What is known as an observation?

6. Mention any two law of weights.
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State the Napier’s rules.

What is called spherical excess?
What is a tide — gauge?

Define the term parallax’.

PART B — (5 x 16 = 80 marks)

(a) Two sets of tacheométric readings were taken fron
an instrument station A, the reduced level of whicl
was 100.06:m to a staff station B.

(@)  Instrument P - Multiplying constant 100,
additive constant 0.06 m,
staff held vertical

/). Instrument Q — Multiplying constant 90,
[ additive constant 0.06 m ,
staff held vertical to the line
of sight.

Instrument AT To Ht. of Instrument Vertical Angle Stadia readings(m)

P AB 150 m 26° 0.750, 1.005, 1.255
Q AB 1.45m 26° ?

What should be the stadia readings with th
instrument Q? (1€

Or

Py ' K 168
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A theodolite has a tacheometric multiplying
constant of 100 and an additive constant of zero. The
centre reading on a vertical staff held at point B was
2292 m when sighted from A. If the vertical angle
was +2°, 5 and the horizontal distance AB,
190.326 m, Calculate the other staff readings and
show that the two intercept intervals are not equal.
Using these values, calculate the level of B if A is
37.950 m A.0.D and the height of the instrument
was 1.35 m. (16)

What is meant by strength of figure? How it is
determined? (16}

Or

To determi’ne‘ the location of a point P, following
observations were made to three stations A, Band C
from P ;

mr

ZAPB = 123° 4900”
ZBPC = 111}" 21'55”

The following' data are known
ZABC =117°1761”
AB=4769.63 m
BC =5504.05 m

Determine the lengths of PA, PB and PC so that P
can be fixed by method of resection. (16)

5
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The mean observed angles of spherical triangle AB

are as follows;

a = 55° 18 24.25” weight =1
B =62°28 34.24" weight = 2
7 =62°18'10.347 weight =3

The length of the side BC was also measured
59035.6 m. If the mean radius-of earth is 6370 k
Calculate the most probable values of spheri

angles. .o (
Or

Adjust\the angles of a triangle ABC from 1
following data

Use method-of correlates.

ZA =86°35 11" Weight =2
£B =42°15"17.07 Weight =1
£C =51°09 34.0” Weight =3 [
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(1) Sideral time
(i) Solar apparent time
(iii) Standard time
(iv) Universal timg.
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(b) A star having declination 60}’2\4’11”N and R.A. 11®
42m 145 was observed at v\(gstérn elongation at a
section A in latitude 53° 45° N and logitude 54° 15’
W. The G.8.T of G.M.N was 4h"40m 46, The mean
observed horizontal angle between the reference
object R and the star was 56° 36'46”. Find the
Aollowing.

i)  The altitude of the star at elongation.
() The azimuth of the line AR

(iii) The local mean time of elongation. (16)

15. (a) What is stream guaging? Briefly discuss the
principles of various methods employed for stream
gauging? 16)

Or
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Types of aerial photographs.
Stereoscopic Instruments.

Cadastral surveying.

Electronic distance measurement.





